小学数学三年级下册口算笔算复习300题
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10－0.7=
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51－4×6＝

600－50＝
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350-70＝

80-36=
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540－360=
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70÷5＝
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84÷42＝
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85÷5＝

57÷3＝
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450÷5＝

240÷6＝

84÷12＝
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1000÷5＝
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560÷4=

95÷1＝
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72÷4＝

8000÷2＝
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90÷5×3＝

10÷10×30＝

420÷2＝
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774÷8＝

1.1＋0.9=
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1345+1490=
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3600÷300=

8400＋600=
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2300÷800=
27＋5=
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45－27=
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45－5=
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60－12=

85－50=

66－6=
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640－40=
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24－8=

78－7=

828－18=
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820－560=
34－20=
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3600－300=

8400－600=

1900－540=

2300－800=
274－45=

355－29=

476×８＝
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45×29≈

700×4=1

35×4=
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10×18=
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40×70=
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21×5=
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60×70=
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36×42=
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27×34=

25×14=

65×11≈
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27×19≈

45×19≈

53×21≈

7248÷4=

96÷6=

3560-12=

24375÷5=

840÷4=

5600÷7=

480÷6=

380×0×25=

240÷6=

18×3=

300+4166=

306×5=

576÷8=

814÷4=

920÷4=

90÷6=

48÷16=

96÷24=

900÷45=

6240÷20=

4608÷53=

380+60=

210÷7=

24×5=

230×3=

5×10=

35÷5×4=

32-32÷8=

45÷（16-7）=

508÷2＝

114＋19=

2050＋57

380＋24=

2835＋27=
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18＋5=
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392÷4＝
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770÷5＝
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630÷6＝
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32×48≈
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890÷9≈

6×98＝
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67×42=

4693÷7=

8608÷8=

15×4=

96÷8=

140×7=

8024÷4=

72÷12=

9×4+6=

3200÷40=

4800÷60=

150×20=

38×47=

603×12=

1607÷15=

8380÷27=

45÷5×6＝

3×6÷9＝

6÷3×8＝

36÷4×5＝

3×3×3＝

7×6÷3＝

4×6÷8＝

125×4=

417÷60≈

351÷5≈

627÷9≈
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35×21≈

720÷8=

60×30=

690÷3=
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816÷4=

348÷5=
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309÷3×0=

29×81≈
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40×60=

50×(3×4)=

564÷7=

6668÷4=

30×8=

1600-12=

12×58=

22×38=

36×20=

480÷6=
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200÷5=
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30×17=
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20×70=

7×7-9=
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24×8=
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25×300=
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